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Attempt. any rwo paris -from - each- question. All
questions carry equal marks.
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Use only elementary operations (transformation) and
find the inverse of the maritx :
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Determine the eigen values and the corresponding
eigen vectors of the matrix A, where :
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State and prove Cayley-Hamilton theorem.
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X+y+z=-3
Ix+y=-2z==2
x+4y+T7z=7

Find common solution of the following equations by
matrix method :

X+y+z=-3
Ix+y=-2z=2=2
2x+4y+T7z =17
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Find the quotient and remainder when

X0 = 3x4 4+ 23 8x —135is divided by x - 4
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If the sum of two roots of the equation
> px? + gx +r = Qis equal to the third root, then
prove that .

P —4pg+8r =0
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Prove that if f:A — B is one-one onto, then
£~V B - Ais also one-one onto.
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Prove that the necessary and sufficient condition for
a non-empty subset H of a group G to be a subgroup
of Gis :
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State and prove Lagrange's theorem.
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If /is a homomorphism of a group G into group G’
then prove that the kernel K of f is a normg
subgroup of G.
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Prove the intersection of two subrings is a subring,
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Prove that every finite integral domain is a field.
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Show that :
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tanh™! x = sinh!
1-x2
Prove that :
X

V1= x?

tanh~! x = sinh™!
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Sum the series :
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